Section A
1. AT A F o Suay A R A W
Transformer rating in Medha make AC EMU
a) 1100 KVA b) 1000 KVA ¢) 1110 KVA d) 1010 KVA

2. Full form of MCCB ‘
A) Miniature case circuit breaker B) Multi case circuit breaker
C) Main case circuit breaker D) Molded case circuit breaker

3. W& I FSEE s & AU Fgaas fiv dees
Minimum BA voltage to energize a rake
A)S0v B)S55v C)110v D)85v

4. ¥SABT & YFR Aef/de ol Raa
Type of headlight ON/OFF toggle switch
A) DPST B)DPDT C)SPDT D)SPST

5. T IR A & o o o7 ar mar §
A, ST BT AR B. T T W & C. & &7 WAL agA D. 37 W &

Tail lamp given to indicate
a) Trainin line  b) Train is moving c) Last vehicle of train d) Train is stable

6. T—3FATH NS BT ATH FAINA ... Brar 21
Gross clearance of ‘A’ class ODC is above...........
A.230mm B. 239mm C. 248mm D. 224mm

7. €2} 1SS BM ® SURI S Ufduie A ASIhd 8 Bl .o, % <X AT ¥ Fwd s =fed |
After sounding of Hooter, Medical Van should be dispatched from shed byDouble Exit within ......
A.30min B.10min C.15min D.20min

s.ma"rgém%

A.TFHT B. 3T AT [AERE C. 9 A 3a3AT D. TAT TaFRT

Class B accident
A. Collision B. Fire or explosion C. Derailment D. Averted collision

9.@aY # g7 feerer U I H gHea H fha Aol 7 el o o @2

Train passing signal in danger is classified in which class of accident?
A.Class-H B.Class-) C.Class-A  D. Class-B

10. TATEdl BT BT NG ...ovovvvs e & 3favrel W fdar omar 2|
POH of LHB coaches is done after......... months
A.12 B.18C.36 D.48

11, For finding what defect UST is done?
quadl # Fi @1 9 A% AT AT 87

A 3Hiaft@ ZIX B aTEdr g C. /g FaTE &IR D. IWFd # § #Ig Ad

A. Internal crack B, external crack C, Air flow crack D. None of the above



12. ¥2Y isolating & g STo1g 9T @ar &
A. 3T 35 & A B, vEdY dEaddT ¢ HT FFrdHe D, eIt #i

Location of Panto isolating cock
A.Under driving desk  B. LT compartment C.HT compartment  D. Trailer coach

13. TR 3R] H AT GO $ Aleteh T §
A. AN B. A C. s D. whe

The standard colour of humidity indicator in air dryer is
A. Orange B. Purple C. Blue D. White

14.%@?%%3?&33@@%

During which stroke inlets valves open
A. Suction B. Compression C. Power D. Exhaust

15,599 e freex g7 Rua @
Lube oil Filter drum is located in ;
a) Nose compartment b) Generator room c)Engine block d) Radiator room

16.916R Fircaex fhaa HROT FEHT &7
A.FH Jaoed B. 8 MY @@ C.FA FAfa 9 gam@ D. FAeiR defiar

Power contactors flutters due to
A. less magnetism B. Load meter defective C) less control air pressure D) weak batteries

17. 347 A JOTR & ... YR & Rbeex &1 39A19T fFar Srar

In fuel oil system =-=------ type of filters are used.
a) socks type b) foam type c) mesh type d) paper type

18.THR c&Tdr gdeior fhad gefag &2

MR Efficiency test is related to —
a) Power assembly b) MR Tank c) Turbo Supercharger d) Compressor.

19. STATTAS g I8 AT &

Dynamic brake grid motor is a —
a) DC Motor b) Single phase AC motor c) Three phase AC motor d) None of these.

20. WDGAG &I & el & AT wgefca el aiedst T gl =nfge?

What,should be the minimum battery voltage for starting of WDG4G ?
a)e0V b)55V ¢)72vV d)64Vv

21. SUAY gEBAT Fr Wear §
Rating of EMU transformer is
A.1200KVA B. 1000KVA C. 800KVA D, 1100KVA

225UAY #H UANR EE1d @ §

In EMU the MR pressure is
A.5.0kg/cm’ B.6.0kg/cm’  C.7.0kg/ecm*  D.8.0kg/cm’



23.ARR stands for
A. Air reset relay B. ABB reset relay  C. ABB act Relay  D. None of these

24. DDU stands for
a) Driver display unit b) Driving Desk unit ¢) Double display unit d) Desk display unit

25. RAN-ERN FATR IBTYE Ao
DC-DC convertor output voltage
a)30vb)25vc)24vd) 255y

26. Full form of ESMON

a) Energy cum speed monitoring system b) Speed monitoring system
¢) Energy monitoring system d) Energy and speed monitoring system

z7.mmd®wwmw§rﬁiﬁwawﬁ
Rating of light & fan HRC fuse in driving cab
a) 100 amp b) 125 amp ¢) 63 amp d) 50 amp

28. fhat T weleR & T @

How many no. of switch for flasher
a)lb)2c)3d)4

29. Full form of IGBT

a) Insulated gate bypolar transistor b) Insulated guard bypolar transistor
c) Insulated gate bypass transistor d) Insulated guard bypass transistor

30. MU & T 140T BD Fef (GW) T Hf0hars gon$ afy &

Maximum hauling speed of 140T BD crane (GW) with modification is-
A. 110KMPH B.90KMPH C.100KMPH D. 80KMPH

31.DNRH i &Y el R &7
A.Gottwald (New)  B. COWANS(Old) C. COWANS (New) D.GOTTWALD (Old)

32. TIHREY &7 leT T AP STSHVTHRE & ¢

Make of HRD at JAJ/ART-
A. LUCAS B. HOLMATRO C.BEMCO D.ASKA

33 ATANN 9T TIHRE F AA0/aT

Make/year of HRE at DNR-
A. BEMCO/2016 B. LUCAS/2016 C.BEMCO/2017 D.LUCAS/2017

34.f @9 1407 B.D el T DNRH are[ foRam arm

Commissioning year of 140T B.D.Crane at DNR-
A. 2003 B. 2001 C. 2004 D.2006

35. %l HEAT gIggiioiah et SPARME/DNR U 3Uciets

Total no. hydraulic cutter available at SPARME/DNR-
A.Olset B.03set C.04set D,02set



36. ST Reltsr # Pomfaf@a & & Rt aew Prerg 78 &

In DNR division which of the following does not have double exit-
A.ART/DNR B.140TBD crane C. ART/JA)  D.SPARME

37. WHREVETST & HY CAANRCE &7 & Ay IRy AreRer IS £ 7 o

Last Mockdrill with NDRF team with ART/JAJ was conducted on-
A.15.02.24 B.20.02.24 C. 16.02.24 D.18.02.24

38.%“@140&%%%%?

Total population of 140T BD crane over IR is-
A.74 B.70 C.73 D.80

39.1403?&17.3.3#{%3{13@'&##3{&#31;&%

Permission for movement of 140T B.D. Crane is given by
A. PCME B.CMPE C.PCOM D. CRSE(Frt)

40.%am#%mﬁ§$m$ﬁvﬁztmwm%mm%?

In which wagon type centre sill is used for fixing hooks of crane-
A.BOBRN B.BOXN C.BCN D. BOBYN

41.%3%%%3@%%%##@%#@

No. of staff deployment required during crane operation (As per rule)
A.12 B.10 C.7 D.15

42. %l &I Ao T UHRE F argar dr
Total nos. of vehicles in Class ‘A’ ART
A.07 B.08 C.09 D.10

43. THRETHRTAS U0l @lig & v vgverdr fr Rwmer

HLC recommendation for ‘Procurement of ART/ARME equipment’
A.HLC37 B.HLC36 C.HLC38 D.HLC40

44, THRUAST FRAT & foT A e & v vavedy 6 Rwier

HLC recommendation for ‘Cash imprest for ARMV In-Charges’
A.HLC42 B.HLC36 C.HLC38 D.HLC41

45. % 3A¥eT & AT HfAard geeaat grgaswma fr safy

Duration of Mandatory Refresher Course for crane operator-
A.03Weeks B.04Weeks C.05Weeks D, 06 Weeks

46. 39T GHETOT B NHTAT & v afr §

Duration for filling of proforma for equipment testing is-
A. Weekly B.03 Monthly  C, Monthly D, 06 Monthly

47. 9 &g & faavor & qfeior & v smafQear

Periodicity for testing particulars of chain slings-
A. Weekly  B. 03 Monthly C, Monthly D. 06 Monthly



48, THRA/THRTHS ' TG e & AT TR Hg

siren code for cancellation of ART/ARME
A. 01 long hooter 60 Sec  B. 01 long hooter 45 Sec
C. 01 long hooter 90 Sec  D. 02 long hooter 45 Sec each

49. N aRRY FE JA=X ¥ $haar &2

Zika Virus is transmitted by which mosquito?
[A] Culex mosquito[B] Aedes mosquito[C] Anopheles mosquito[D] Mansonia mosquito

50.2020 INRF Hgl NG AT 73T ar?

2020 Olympics was held at-
A.Beijing B. Tokyo C.New Delhi D. Paris

S1ICAR fohe T FATGT & Had T TR TS £7

ICAR is an autonomous organisation under which Union Ministry?

[A] Ministry of MSME[B] Ministry of Agriculture and Farmers Welfare
[C] Ministry of Science and Technology[D] Ministry of Corporate Affairs

R A asla daegza
Which of the following are Green house gases?
[A] Carbon dioxide[B] Methane[C] Nitrous oxide[D] All of the above

53. R @ T a8 0T AT & TSIEd HROT IHAN HFd TAg wgedH Hg &Thel I@el H
T HAT 87

What is the property of a liquid due to which its free surface tries to have minimum surface area?
[A] Viscosity[B] Buoyancy[C] Surface Tension[D] Rigidity

54.307 ¥ fFE W & 39T WfSTH q@07 JFd W a1 & e fhar s &2

Which of these chemical is used to form soaps containing sodium salts?
[A] Sulphuric acid[B] Sodium hydroxide[C] Nitric acid[D] Carbonic acid

55.8Y & Sam] fRvae garr fAfAd sise
Food produced by bacterial fermentation of milk?
[A] Yogurt[B] Butter[C] Ghee[D] Cheese

56. Gt & Ferer FT forsherd &?
Flowers emit fragrance to :
[A] Drive away flies[B] Purify air[C] Attract insects[D] All of the above

57. §€8 FHAT FIA9EY

Commonest mammal is....
[A] Elephant[B] Lion[C] Human([D] Panther

58. 9edT & agHse A Hled W Ay weftw gHv AE A R

Which gas is most abundant in the Earth’s atmosphere?
A. Nitrogen B, Oxygen C, Carbon dioxide D.Hydrogen



59.9€ HIT W wfhar ¥ Rords camr oy G & warer v 3T A I SowT
27

What is the process by which plants make th

eir food using sunlight?
A. Photosynthesis B. Respiration

C. Fermentation D. Transpiration

60. J% T TETEfAE Ry T

What is the chemical symbol for iron?
A.Au  B.Ag C.Fe D.Fi

61. 91T & fAwey v et fFaa $p

Who discovered law of motion

A. Galileo Galilei  B. Johannes Kepler - C.lsaac Newton D. Albert Einstein

ez.mwmﬁﬁwb

What is the chemical symbol for sodium?
A.So B.Sd C.Na D.Ne

63. faRa & TR BT AgEER.

Smallest ocean in the world. '
A.Arctic B.Indian C. Pacific D. Bay of bengal

64.fava &1 A T3 .
Largest Island in the world.
A. Andaman & Nicobar B.Japan C.Carrabean D. Greenland

65. &[T I fahaietr ogamT gl &7
How many sides does a hexagon have?
A.6 B5 C7 D. 8

66. X24+2*X*Y+Y’= ? (If X=5 & Y=6)
a) 121 b)111 ¢)101 d)131

67.38 33T &7 awel AT AT e Far$ - 10 J# 3R 3muR - 15 JWh ¥
Find the area of triangle having height- 10cm and base-15cm?
a) 75¢cm® b) 150cm? c) 50cm? d) 80cm?

68. Fa15- 14 A, Bar- 07 AF are Ao &7 IAGH AT RfoT

Find the volume of cylinder having height- 14cm, radius- 07cm?
a) 2156cm’ b) 2056cm® ¢) 5050cm®  d) 5080cm?

69. 9fe fordT He&ar &1 40% 120 &, @ 3¢y |&ar &1 10% &= &7

If 40% of a number is 120, what is 10% of the same number?
a)40 b)30 c)25 d) 35

70.TH ¥R A 4F H Uh Icdrg A A # 20% A geftr fr W R aRomedr fara
15% &1 AT T &1 e Her Fora 150 o o, @ Jifaw R e a=r



A store initially increased the price of a product by 20% and then reduced the resulting price by 15%.
If the original price was Rs.150, what is the final selling price?
a)Rs. 27 b)Rs. 150 ¢) Rs. 153 d) Rs. 180

71, U @aur fashar & Rs. 250 # 50 &wyex Afer @iig| 3@ 37 & 20 F vAF
15%$mw3ﬁrmas}8%£rmwaaﬁmlmegﬁmmﬁmmr
.

A retailer purchased 50 computer monitors for $250 each. He sold 20 of them at a profit of 15% each
and the remaining at a loss of 8% each. Calculate the overall profit or loss percentage.
a)1.5% b)2.0% c)2.5% d)1.2%

72. Value of Sin180° =
a)01 b)-01 ¢)02 d)0O

73. 18. What does DRS stand for in cricket?
a) Decision Review System b) Direct Run System
¢) Dynamic Review Systemd) Decision Ruling System

74. 351 T ITAT # oRef@a gar g
Engine utilization is reflected in
(A) ETKM (B) GTKM (C) NTKM (D) Km/day/loco in use

75. e A3l A Y9d IeTaral T FAT 3Ty §
In which manual the list of railway hospitals found
(A) Working Time Table (B) Railway Time Table (C) Accident Time Table (D) G & SR

76. ST ARANRT T FIseT SfasT F4T 8?2
What is the codal life of Diesel Locomotives
(A) 25 Years (B) 36 Years (C) 30 Years (D) 40 Years

77. WDG5 olleh! & 9fgdr caawdr §

wheel arrangement of WDG5 Locomotive is
(A) Co-Co (B) Co-Bo (C) Bo-Bo (D) None of these

78. WDG5 WY T ST &THAAT &

Fuel capacity of WDG5 Locomotive is
(A) 5000 Lts (B) 6000 Lts (C) 4000 Lts (D) 7500 Lts

79, ToTdr MFART # HWHAA fhde STHAE vew R e

How many maximum EFCO Provided in HHP Locomotive
(A) 02 (B) 03 (C) 01 (D) 04

80, WEd ga dg PUfY, BAE 9T HlT AT Bice A3 AT &
CEB Breaker OFF condition, what fault code come on screen-
(A) 1019 (B) 1022 (C) 1120 (D) 1119

81. drfiEr dad ared dg Fa & @G, dEEY
After closing VCD Magnet valve, VCD is
(A) Not Working (B)Only mechanical side working (C) Only electric side working(D) Isolated




82. aPART & U & Rr & gwar Bud FRoT @) gwar g2
A. Radt gl R & &t an @ & B, & okt FW ¢ 35 @ €
C. Show &8 351 @ & D. 3Ea & @ f18 gt

Locomotive moving in one direction only can be due to-
(A) Reverser not coming to other direction(B) EP Contactors not lifting up
(C) GF not picking up(D) None of Above

83. Rvae it "ar Rufy # i & & I g Rwar ¢ ag #
The aspect shown by calling on signal in “on” position is
(A) RED (B) YELLOW (C) WHITE (D) No indication

84. $UAS WA F ST Yo N &HAT
Capacity of water system in EMD LOCO
(A) 1210 Ltr (B) 1045 Ltr (C) 670 Ltr (D) 375 Ltr

85. $UAS el # I A TR %80fe@r T & O Hlr & afFT Fa gy seef
In EMD Loco when Loco LR is showing 80% then which power will reduce
(A) Hauling power (B) Braking power (C) Battery power (D) Releasing power

86. APU 3o fAcisy &r afFda HP A FIT § (

What is the power (in HP) of APU’s Engine Cylinder
(A) 15 HP (B) 25 HP (C) 35 HP (D) 45 HP

87. T Fall Sf3%heT )AFI) Fr &S §
Unit of Air Flow Indicator (AFI) is

A. Kg/cm2 B. Pound/inch C. Wagon reading D. Km/h

88. gfgdl # welc TR & HTT FROT
Main cause of Flat Tyre in wheels 7
(A) Wheel slipping (B) Wheel skidding (C) Wheel hammering (D) Wheel losing

89. A-Q aTed & fraelr sfdher FRufY gl &2

How many braking position of A-9 valve have.
A. 05 breaking position B. 04 breaking position C. 03 breaking position D. 01 breaking position

9. SA-9 aTed #r farcetr afdFer Reufe gl &2

How many braking position of SA-9 valve have..
A. 03 position B. 02 position  C. 05 position D. 01 position

91. T FAY I I HeT Fed & WY FI e AT §

While on run if airflow meter shoots up with jerk means
A.defect B, parting taken place C. spring broken D, moisture in air

92. HHP d/IART & faraar ETP @9 g1y &7

How many ETP are fitted in HHP Locomotive?
a)l b)4 c¢)3 d)2.



93. ¥UA AT ZRMIH Mozt # Pt Rt ot agerr arer

Fuel oil secondary filter is changed at -
a)60days  b) 180 days ¢)90days  d) None of these.

94. WDGAD SRR &1 aorer &
Weight of WDG4D Locomotive is -
a)126T  b)123T €) 12127 d)130.2T

95. Full form of C10?

a) Computer input output b) Compressor input output
¢) Consolidated input output d)none of the above

9. §et & AT arg amqfif gt ¥ @l B
Air supply for horn is from.
A.MR-1tank B. MR-2tank C.J filter D. HS-4

97. THIR YT aTed gard W AT ¢

MR safety valve is set at pressure (in kg/cm?2)
A.10.0 kg/cm2 B. 6.0 kg/cm2 C. above 10.5 kg/cm2 D. below 6.0 kg/cm2

98. TFE & & ket A=t areq &g & A ¥

During which stroke both valves closes
A.Suction B. Compression C.Power D.Exhaust

99. 3NE Iraeiy Harfara ghar &

GE Governor is operated...................
A. Mechanically B. Hydraulically C.Pneumatically D. None of these

100. EvEdr IYAR FaAT FEr §

TSP treatment is done for....................
A. To remove scaling  B. To decrease the cooling efficiency
C. To avoid any chemical reaction  D. To improve chloride value

Section B

101. &1 eaq Fa AT SATAT 8?2

A. 14 September B. 14 October C. 14 Novemeber D. 14 December

102. BfAUTe & o 3ieTede # TSTHTNT 3TN 7o+ et graere § ?
A. 318G 344 (3) B. TG 344 (4) C. 14 3TTE 344 (1) D. oD 344 (5)

103, “d1" 87 & &g THR H FAEIN F 300 F T PeAfai@a s F gvew
(A) e 3ruar gfTaren(s) daer Bed)(C) Faer See(D) Faer wRRE ST

104. TSTHTST & U 9T &2 &1 fhctar a¥at o amer omr &7

(A) 2(B) 1(C)4(D) 3



105. TSt HORAH, 1963 &1 gty Fa gam

a)1967 b) 1966 c¢) 1965 d) 1968

106. TSTTST Ry wiRNeToT 7 wrsTwa Fe SR Far &2
(T) 7§ FSrora(e) e dare (@) w@r Ao (@) 9 qEe

107. 570 @ HleT W 9T q@anry AR F 78 oy s &2
(@ & @) d&pa @) TERm (@) w6

108. TSTIT foaraAt & 3178, 35A AR e v a7 & 3iddia 3 &
AT AT b AT W AT d.PE A

109. TSTHIST YRT 3(3) & A 3o aTof Teh GEATdST T ATH FaTe?
a. AT Y b.9RUT ¢ 3@&ET  d.u9F

110. TEET TSHNT AT Fr 716 e fFar a=r ar

a.01.01.1982 b. 01.01.1976 c. 01.01.1996 d. 01.01.1975



Model Answer for selection for the post of JE/TS, Pay level 06, 25% LDCE quota.

1A 2D 3D 4 A 5C 6A 70 8B 9A 10C
11A 12C i3 C 14 A 15D 16 C 17D 18D 19 A 20B
218B 22C 238B 24 A 25D 26 D 27 C 28 B 29 A 30C
31D 328B 33 C 34 A 35D 368B 37C 38A 398 40 A
41D 42C |43A 44D 45 8B 46 C 47 D 48 C 49 B 50B
518 52D 53 C 54 B 55A 56 C 57'C 58 A 59 A 60 C
61C 62C 63 A 64 D 65 A 66 A 67 A 68 A 69 B 70 C
714D 72D 73 A 74 C 15 C 76 B 77 B 78 A 79D 80D
818 82A 83C 84 C 85 A 86 B 87C 88 B 89 B 90 A
918 92D 93C 94D 95C 96 A 97 C 98 B 99 B 100 A
101A [102C |103A |104D |[105A |106A |[107C |108A |109A |110B
0{.9”‘\ 99?)
oA\



